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1. At the time of producing Oxygen from KClO3 

which one is used to increase the dissociation 

degree of KClO3 ? 

 a. Fe b. SiO2 

 c. MnO2 d. V2O5 

2.Which one is not the characteristics of 
equilibrium? ‡KvbwU mvg¨ve¯’vi ˆewkó¨ bq? 

 a. Stability of equilibrium 

 b. Mobile from both side 

 c. Rate of reaction 

 d.Incomplete of the reaction 
3. How is the catalyst increased the rate of reaction? cÖfveK Kxfv‡e wewµqvi MwZ e„w× K‡i- 
 i. By incrasing the kinetic energy of the 

reactant. 
 ii. By decreasing activation energy. 
 iii. By adsorbing reactant molecule. 
 Which one is correct? 
 a. i , ii b. i , iii 
 c. ii , iii d. i, ii , iii 
4. If the equilibrium constant of the reaction                          

SO2(g) + 
2

1
O2(g)SO3(g) is K1 and the 

reaction of 2SO3(g)  2SO2(g) + O2 is  K2 . 
What will be the relation between K1 and K2 ? 

 a. 2K1=K2 b.  K1
2=

2K

1
 

 c. K2=
1K

1
 d. 

2K

2
=K1 

5. Which mixer having the pH value equal to 1? 

 a. 60 mL 
10

M
HCl+40 mL 

10

M
NaOH 

 b. 55 mL
10

M
HCl + 45mL 

10

M
NaOH 

 c. 75 mL 
5

M
HCl + 25mL 

5

M
NaOH 

 d. 100 mL 
10

M
HCl + 100mL

10

M
NaOH 

 
 
 
 
6. Which acid having minimum value of 

dissociation constant Ka ? 

 a. H2CO3 b. HF 
 c. CH3COOH d. HClO4 
 
7. Initial concentration of B is 1.5times than the 

initial concentration  of A of the reaction  
      A + 2B  2C + D .But at equilibrium the 

concentration of A and B are same.What will 
be the value of equilibrium constant? 

 a. 8 b. 4 
 c. 12 d. 6 
8. At equilibrium the mixer of SO3, SO2 and O2 are 

in a container.If some helium gas is added in 
the container then the total pressure of the 
mixer is increased but temperature and the 
voluime will remain same. What will be the 
change of dissociation degree of SO3 - 

 a.will increase b.Will decrease 
 c.No change d.None will correct 
 Answer the question no.9 and 10 according to 

the graph. 

           A(reactant)B(product) 
 
 
 
 
 
 
 
 
 
9. What will be the activation energy for the 

backward reaction (BA)? 

 a. yz b. zy 

 c. z + y d. Exz 
10. The reaction of the stem- 
 i.  Exothermic 
 ii.  Heat absorb from the environment 
 iii.The energy of product is less than reactant 
 Which one is correct? 
 a. i , ii b. i , iii 
 c. ii , iii d. i, ii , iii 
11.The dissociation reaction of XY2 is XY2(g) 

XY(g) + Y(g), The initial pressure  XY2 is  
600mm(Hg) and total pressure at equilibrium 
is 800mm(Hg) .What is the value of 
equilibrium constant? 

 a. 50 b. 100 

1 7 6 
 

 Progress of reaction 

 



 c. 166.6 d. 400 
 
 
12. The dissociation degree of the reaction 2AB2 

(g)  2AB(g) + B2(g) is  x and the value of x 
is less than 1. What will be the exact value of 
x-  

 a. 








P

KP  b. 








P

2KP   

 c. 
31

P

P

2K
/









 d. 

21

P

P

2K
/









 

13. 2H2(g) + O2(g) 2H2O(l); What is the  KC 
equation of the reaction- 

 a. 
]O[]H[

]OH[
K

2
2

2

2
2

C    

 b. 
]O[]H[

1
K

2
2

2

C   

 c. 
2

2

2
2

2
C

]OH[

]O[]H[
K    

 d. ]O[]H[K 2
2

2C   

14. In the mixer of  10mL 0.1M HCl and  5 mL 
0.1M NaOH  solution.  Which ion will be 
present? 

 a. OH , Cl , Na+  
 b. OH , Cl , H+  
 c. H+ , Cl , Na+   
 d. H+ , Cl , Na+ , OH  
15.The factors affect on the reaction rate- 
 i.  Catalyst 
 ii.  Concentration of reactant 
 iii. The surface area of reactant 
 Which one is correct? 
 a. i , ii b. i , iii 
 c. ii , iii d. i, ii , iii 

16. Which substance should be added so that the 
reaction moves forward to complete the 
reaction by removing  OH− ? 

 3MnO4
2− +2H2O 2MnO4

 + MnO2+4OH
− 

 a. HCl b. KOH 
 c. CO2 d. SO2 
17.The reaction CaCO3(s) CaO(s)+CO2(g) 

is in a closed container at equilibrium 
state.If some amount of CaCO3 is added 
then what will be the concentration of CO2  

 a. Increase b. Decrease 
 c.No change d.None will correct  
18.If the pH value of a weak acid is 4 then the 

molar concentration (C) and dissociation 
degree  () will be-  

 a. C=103
,   =5%  

 b. C=102,  =10%  
 c. C=103,  =10%   
 d. C=102,  =2.5% 
19. A salt produces a colorless solution 

dissolving in water. Whose pH value is 
9.What is the formula of that salt? 

 a. NH4NO3  
 b. CH3COOK 
 c. CH3COONH4  
 d. CaCO3 

20.If  the  QC =
3

22

2
3

]][[

][

HN

NH
 of the reaction  

N2(g) + 3H2(g)  2NH3(g). To turn the 
reaction from right to left what should be 
done- 

 a. QC = KC b. QC  > KC 

 c. QC < KC d. QC = 0 
 
 
 
 




